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Grade 8 Trimester 1 Review
Question (1):

Choose the correct answer:

3
1. Change the fraction s to a decimal

a) 0.125 b) 0.3 c) 0.37 d) 0.375
) . 7 )
2. Write mixed number 2 47 @ decimal
a) 2.636 b) 2.63 c)2.63 d) 2.6

3. Which linear equation has slope is 2 and y-intercept is 3?
a)y—3=2x b)y+2x =3
c)y=-3x+2 dy=-3x-2
4. slope-point form for a linear equation can be written as
a) y=2x+3 b)y=§x
c) 3x—5y =4 d y—2=3(x-5)

5. Evaluate the expression (g + h)!? ifg=2andh=-3.

a) - 512 b) 1 c)-1 d) 512

6. The gradient (Slope) of a line passing the two points (-5, 4), (-3, 2) is:
a) 4 b) 1 c)-1 d) -2

: : . -3 1 :
7. The solution for this equation TX=ox— 5 is...

a) 4 b) -4 c)7 d) 70

8. Fifth of a number Subtracted from 10 is -8 can be stated in:

1
a)10-%x=-8 b)10+gx=-8

c)% X -10=8 d)% X +10=8




9. Find 3%.3® Express using exponents

- 40 3 1 _
a)3 b) 3 )5 d) -27

10. Simplify: 7t2(—6t3) Express using exponents

a) -42 t° b) 42 t° c)-42 t° d) 42 t°

6
11. Simplify: BT“ Express using exponents

a) 3 b) 31° ) 37 6) 37

12. write the equation that: Eight more than the quotient of a number and 2 is -6.

X X
a)8+—2——6 b)8—7——6
X X
g8+ 2= d)8+% =6

y3
13.if y_|:| = y8 then []= ...

a) 3 b) 5 c) 11 d) -5
14. The slope y-intercept Equation for the line in the graph is:
a) y=x+4 b)y=4x+1
c) y=—4x+1 d y=4x -3
15. The slope y-intercept Equation for the line that goes through

two points (2,3) and (3,5) is :

a) y=2x- 1 b)y=2x+ 1
Jy+2=3 d)y+2x =2

16. Simplify (-3x? y*)3 Express using exponents.

a) 27 y°y*? b) -27 y°y’
c) -9 ySy12 d)- 27 yby12
17. Find —V49 =......
a)7 b) -7 c)x7 d) No rea number




18. Which equation represents the graph at the right?
a)y =—x%+1 b)y =x%2—1

cJy=-x%-1 dy=x%+1

19. The system equationsy =2x —3 & y+5=2x has.............
a) One Solution b) Two Solutions
c) Infinity Solutions d) No Solutions

21. Which equation represents Direct variation relation between x and y ?

a)y=%x b)y =2x +3
)y =x*+5 d) y = 3x?

22. The table shows some ordered pairs that lie in a line. " 5
Which equation could represent the line? y -2
a)y=2x b)y =4x — 2

c)y=x+4 dy=2x-2
23.Which graph represent the equation y = x? — 3
a) b) c) d)

24. Which number best represents the point graphed on the number line?

a)V8 b) —/8 c) V=10 d) V10

25. Standard form for a linear equation can be written as
a) y=2x+3 b)y=§x

c) 3x=5y—4 d 3x —2y =8
10




Question (2):

1) Without using calculator Complete:

a) V49= ...... b) V64=........ ) V27 +V16= .........
d)V81=...... e)V=8=........ ) (/5)%= ...
DV=25=...... hy Y125 =........ ) g =

2) Estimate /130 to the nearest whole number ...

3) Solve each equation. check your solution.

a) By + 17 = 3y — 10 b)Z x—15= - x+12

c) 2(8y-1)=3y-10




Question (3):

1. Write each number in standard form:

a)2.91x105=............... B)5.2277x 1073 = ..................
2. Write each number in scientific notation:

a) 0.00000571=................ B)365000000=..........cceennennn.

3. Evaluate each expression. Express the result in scientific notation.

a) (4.5 x 10%)( 1.6 x 10°%) =

24%X102

4) Order these numbers from the least to the greatest:

16000000 , 2.2x10® ,  3.1x10° , 999000

5) Order each set of numbers from least to greatest.

{415% , V17 , 41 , V63 }

6) Find each function value
a) if fx) =2x—=7find f(—=4)= e

b) if f(x) =-3x+ 10 find  f(5)= i




Question (4):

1. Replace O each with <, >, or = to make a true statement .

2. Determine whether the relationship between x and y described in each table is
proportional. Explain. Write the equation for each table?

a) X y b) X y

................................................................................. 2 7 1 7
4 13 3 21

................................................................................. 5 iy . -

Question (5):

The table shows how much Khaled earns per hour.

Working hours (x) 6 8 10
Amount Earned AED (y) ({300 | 400 |500

a) Find the rate of change between working hours and the amount earned.

b) Determine whether the relationship between the working hours and amount earned
is linear. If not, explain your reasons?

c) Determine whether a proportional relationship exists between working hours and
the amount earned. Explain your reasons.

e) graph the relationship between Working hours (x)

and Amount Earned AED (y)




Question (6):

Find the slope of each situation.
(b) (c)

Question (7):

a)Solve the system of equations by graphing.
y=4x+8

y=22x+4)

b)Use the slope and y-intercept to Write the equation of the line

d) Solve the system of equations by graphing.
y-2x=-1

y=—x+5
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e) Solve the system of equations algebraically. Check your solution
X By = L e

Y T 2 X 4 S

f) A coloured printer prints 36 pages in 3 minutes write and solve an equation for the
direct variation to find how many pages printed in 10 minutes?

Question (8):

a) Al Rahba beach rent charges AED 35 rental fee for a boat plus addition charging AED 15
per hour usage. Assume The relationship is linear. Write an equation to describe this
situation. Then interpret the rate of change and initial value.

b) complete the function table for the equation f(x) = 2x + 3. 5 I 5

Then graph the function. (choose suitable values for x) 1

! I T !

x | f)=2x+3 | vy | (x,9) .
S S VP R

5 2 Iz 3

1 : -1 1 1




Question (9):

a) State the domain and range for each relation. Then determine whether each relation is

a function or not? X y x y
4 x N 4 y N f_\ f_\ f_\
1 2 1 2 1~ 2
/] —
\ 5 y :‘6 ) _51 i/ _54 6

b) Write the point-slope form equation for a straight line goes though the
two points (-2,3)and (4,7).

C) Complete function-table to graph the equationy = x% + 3

X x% +3 y | (x,¥)

d) graph the equationy = —2x2? — 3

e) Determine whether the relationship between the two quantities described in each
table is linear. If so, find the constant rate of change. If not, explain your reasoning.

X

a X Y b) Y o X7 d | X |
2 80 3 |10 2 | 5 1
4 40 6 | 15 3 | 8 2 | 4
8 20 9 | 20 4 | 12 3 | 16

16




Question (10):

1. State the slope and the y-intercept for the graph of each equation.
3
a)y = p x—4 Slope = ............. y-intercept = ..............

b)2y—x= 7 Slope = ............. y-intercept = ..............

2. Write an equation in point-slope form and slope-intercept form for a line

each line passes through (3, -6), slope = g

3. The quadratic equation p = 50 + 2r2models the gross profit made by a factory that
produces r ovens. Graph this function. Then use your graph to estimate the profit for 5
ovens.

4. The graph display the distance from Hasan’s home as He walk in his neighborhood.
Describe the change in the distance from his home over time

»

A

distance from his

.............................................................................................................................. Time

5. the two following polygons has the same perimeter write the expression's
equation to find the value of x?




